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Polar covalent bond -

Two dissimilar atom mn-:bin_i-;_ll

Difference in their rletimacgiliﬁt}’ ;

Bonding clectrons pair slightly shifted

Towards more electronegative atom

|

The atom acquire 8~ charge while other
acquire &7 charge

|

A permanent dipole is created

~ Covalent band
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“ Non polar covalent bond

Two Similar s!ﬁm combined

- No difference in their clectronegativity

Bonding electrons pair remain in middle
of both atom

I |

No charge appear on the atoms

|

“No dipale is present
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‘How to check Dipt_;le mmine’n.t_in a molecules
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then molecule is nonpolar ik
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 then molecule is polar
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 Exercise 2: ABy type molecules
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